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Exercise 14.4
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—1 1 X -1+t
a)r=|0 |+t 5 y|=1| 5t
2 —4 z 2 — 4t
3 2 X 3+ 2t
b)r=|-1]|+¢t| 5 y|=[-1+5¢
2 -1 z 2—t
1 3 X 1+ 3¢
) r=|-2|+t| 5 y|=|—-2+5t
6 —11 z 6 — 11t
—1 8 4 —4
a) r=|4 |+t|1 b)r=|2 |+t|—4
2 -2 -3 4
1 4
o) r=|3 |+t|-2
-3 5
(3 2 _[o 5
a) r—(iz) +t(3) b) r (72) +t(2)
2x + 3y =7
r = 2i— 3j + A(4i — 3j)
r=(—-2,1,4) + (3, —4,7)
a) (1>_172) b) (_17)_1>1)
¢) No d) No
X 2+t
= — =+ =
a) r=(2,—1) + t(1,3) y 1 +3t)
X 2 — 3t
b =(2,—1)+t(—3,7 =
Jr=2-DHE37) )= +7t)
o — X\ [ 247t
c) r=(2,—1)+t(7,3) y —1+3t)
X 2t
= —+ — =
d) r=(0,2) + £(2, —4) y 2—4t)
a) t=% b) no c) m=%5
a) (i) (3, —4) (i) (7,24) (iii) 25
b) (i) (—3,1) (ii) (5,—12) (iii) 13
c) (i) (5,—2) (ii) (24, —7) (iii) 25
a) (—96,128) b) (2%, — 89)
) (24,18)
b) r=(3,2) + t(24, 18)
¢) In 10 minutes
a) a=—3,b=—-5
b) —v21
6
o Y15 V35
6 2
a) 146.8° b) 3.87
¢) (i) Lpr=(2,—-1,0) + t(0,1,2); Ly:r = (—1,1, 1)
+t(1,—3,—2)
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a) (6xyn2)=10+43—
b) (4,—3,—-2)

a) r=(%,0)+t(m,—m)

b) (i) bx—ay=bx,—ay,

1) r=(53),0s<t<1

() r=Qt—1,1-3n,0s<r=<1
(i) r=1—-83,t—1),0=<t<1
r=(2)+3k)+2tk

2t,—17 + 5¢%)

z—3+2t
r=({i+2j—k)

1+2t
2—3t
-1+t

r=t(xol + yoj + zok)

:

a) r—(31+2]—3k)+t]

+t(2i — 3j+k)

2+t
-3

b) r=3i+2j—3k) +14
3+t

Intersect at (1,3, 1)
Parallel

Skew lines

Skew lines

25 Skew lines
27 Parallel
29 (4, —4,8)
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Exercise 14.5
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2 X

—4|| y |=26;2x—4y+3z—26=0

3 z

2 X

0 y =—3;2x+3z+3=0

3 z

0 X 0 2
0 y =3;3z2—3=0r= |3 |+t|—1]|+s
3 z 1 0
5 X

1 y =55x+ty—2z—5=0

-2 z

0 X

1 y =—=2y—2z+2=0

—2/\ z

N b
(ii) slope = "

1
1
0
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